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“aufl @il ig @ apanuirer algsomeid (2005) . 45,000
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aurfl €Ul g &G (paLimes au(pLoirah (2006) er. 55,000
aflLianar (2005) 25,000 wiaea
afipLisnar (2006) 33,000 wi@sar

-Or

+ (b) - What are the various types .of ﬁnancia.ll

ratios?

: ua)ﬁ’»mg; BUGHESULITET ﬂ@tﬁuw afldlgmisenar emgw;
bELTION C — (8% 10=30 marks)
Answer any THREE questions.

xplain the role of financial manager.

b
1Bl 0 wsed Cuoamariler @pédlu Likigasmen afau.

Explain the capital.structure.. .

fp@Gar SLL_entoliL) Lm b efleu.
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18.

Vikash Ltd. is considering Lv{m different,
investment proposals, x and v the detaﬂa are as

follows :

. et e
Investment Cost 1,90,000 4,00,000

Cash inflow before depreciation

and tax :

I Year : © 80,000 1,60,000
IT Year . : 80,000 1,60,000
MYeemese 0o, © 90,000 2,40,000

Suggest the most attractive proposal on the basus
of NPV method consider: ing the future incomes are
discounted @ 12%.

silsren eBI@L L 8oCaun (yag)mﬁ_lq_ma;rram gf,h_l_mwssrr

! é]eamu@mrr@j
SRy
5L l(:ﬂamal.[e.r,sir , ~1,90,000 4,00,000
il Lo GUL Ly % @peTLimen Irsu@m:rmm
T ngeagy 9 Lo iy 80,000 1,60,000
_ BT : ' 80,000, 1,60,000
My C 90,000 2,40,000.

Bley AN sererng. 12% Qpsred erhe HilLib
Qurr@g;g,mrw, B\mEEGLD erer Gg,rrﬁ@g;@g@l Gr@u;ws
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Bmatiuc  Qgrfihsraalo o drer damerSlmen
~ 600 DIOGEET. - . ifled 400 <3| @) & BT
- LwetU RSsLiu farerer. aﬁ]mummr ailsnad e
DVGEES (510 b Geway . 6 (2 2ADG) @bs
a(me uflenan epany @ hiblanavs endeib Ea() Ehw:ar
cg:{) Blevaiimen Qleaey e5. 400 —air GLimg
2b) Baoaunea Qeawe . 1,000 —eir Guirg

(@) Bleveowiren Qesyay (. 1,200 —6ir GLing.
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()

What are the various elements of Financial
Planning?

Bldufluid A misefld o drar LGaip) JﬂQ]{EGﬂ'
Wienel?

Or

The current market price of an equity share
of a company is Rs. 100. The current

~ dividend per share is Rs. 5.50. In case the
dividends are expeeted to grow at the rate -

of 8%. Caleulate the cost of equity capital.

@ Hyesden sngnren Lnddr sheng WL

5. 100, Sigen Bl LBSTEMUD @ LadhE
. 5.50, urés&rrgar'ru__ub 8% odlafleed erafle
2\ge0 (peIGen LodlLianLt ger (ILilg.da.

From the following information, ecalculate
operating leverage.

No. of units produced and sold : 30,000

Selling price per unit : Rs. 20

Variable cost per unit : Rs. 10

Fixed cost per unit at current level sales is
Rs. 5, what will be new operating leverage if
the variabie cost is Rs. 12.
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19. A and B who want to buy a business seek your
advice about the average working capital -
requirements in the first year’s irad'ing. The
following estimates are available znd you are

Elereu(pid  asm GﬂLlS]QI_I;.lq_GiiT geas6flaSlmbs)
beol(pap &ppdl prismer sansd@s. arew
B ger 365 eremd Ooreras. ;

- asked to add 10% to allow for contingencies. _ Qo pLLs sarse (@ '%”gr'@ﬁ@)
Re eflhLenen _' 85
: ; 56 6D LI eneur 61
(@) Average amount locked up in VTR \
stocks : ' ' @i Bleneavd @bl 20:1'? ; 2017 Qo)
. ! SLTDLILD
Stock of finished products and I 14 17
work-in-progress 5,000 A g
I Quim Ceussrigu 1L 21
Stock of stores, materials ete. 8,000 s i = Lq- 2
’ : QeeiEe Cousinriq wig) 12 15
(b) Average credit given ; .-
i Ox
Local sales_ — 2 weeks’ credit; . 78,000 $

- (b) What are the factors determining the
Outside the state — 6 weeks’ credst  3,12,000 - working capital?

() Time available for payment : BLUL  gpesasms  Storeflésh  smasd

For purchases — 4 weeks - 96,000 , iTenols

For wages — 2 weeks 2,60,000 156. . (&) Find out the degree of operating leverage

el from the following data :
Calculate the average amount of working :

capital required. Give detaile of your o EBIT (2005) Rs. 45,000

e ‘ ol | EBIT (2006) Rs. 55,000
A oppib B GTETLIMTITE (@15 2 BISEREDL S(BSSIHaar e o
erélumréSlermen, BT " psa ﬂmfrm_-@g,@ Sales_ (2005) 25,Q00 units

SpealLTe agand, Heraigb ozl ~ Sales (2006) 33,000 units
10% spQswed Blspairs WwHIGL DD Qe G @b, o
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(a)

(letraupid Gﬁ]uméje};sfﬂaﬂ@;bgj
QAnibLCaresenard EITGTE.

2 DLiGdl nDHib el Lianer ererenilGenes - 30,000
afiptear (1 o) : ap. 20
LOTDILD G]&G;Gq (= o) : . 10

BLUled el eandE  Flenad Cleaa| ep 5,
LIDILIGLD * Sswey @y 12 s @UBHSTD 1w
S(mell DHmE ereeT? .

o
Explain the nature of dividend policy.

LIRISTSTLS Qemerensuder Gl isamar e,
The relevans financial information for Sutha

Ltd. for the vear ended 2017 is given below :
Profit & Loss a/e (Rs. in thousands)

Sales : 85
Cost of goods sold 61

Balance Sheet 2017 Begin 2017 End
Inventory 14 T
Ale receivabls 17 25|
Ale payable ’ Y U

Assume 365 days to a year, whatl is the
operating cycle in days?
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{f_ﬁ.”
(@) spel ipgaibp wHHID (pgeipT

ar;;reiu@aaﬂeh &l 5,000
Fl(E DmILD QLJJ‘I‘@I'_EJEG‘.;T I 8,000
el sLer ;
B 6T — 2 eumyih 78,000
Gaueflym — 6 aumryid : 3,12,000
Cea)I58usnaTe Hire) 266, |

_ G]asrra'rr@)‘e_r,@ma@ — 4 qumiih 96,000
806055 — 2 eummid 2,60,000

Gre_r,ma.;uu@m. pavgar  jemellevar  sei(i .G
S_BIG(EHEDL (LI GMggGamenib A womb . B
2|TEE55EG Qoillelds.

The installed capacity of a factory is 600 units.
Actual eapacity used is 400 units. Selling price per
unit is Rs. 10. Variable cost is Rs. 6 per unit.
Caleulate the operating leverage in each of the

following three situations.

(a) whé_n fixed costs are Rs. 400.
(b) when fixed costs are Rs. 1,000,

(¢) when fixed costs are Rs. 1,200.
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